Instruction Manual

PJ-COV30WLCINA

1.  Safety Instructions

The device is not recommended to be placed on low thermal conductive surface. For
example, plastics.

For safety reasons, please ensure the mounted device is kept at > 4mm safety distance at
all sides from other components and equipments (Refer to Fig. 2). Please insert an
insulation sheet between the system and product, if the safety distance is < 4mm.

Note that the enclosure of the device can become very hot depending on the ambient
temperature and load of the power supply. Do not touch the device while it is in operation
or immediately after power is turned OFF. Risk of burning!

Do not touch the terminals while power is being supplied. Risk of electric shock.

Prevent any foreign metal, particles or conductors from entering the device through the
openings during installation. It may cause: - Electric shock; Safety Hazard; Fire; Product
failure.

Warning: The power supply must be mounted by metal screws onto a grounded metal
surface. It is highly recommended that the Earth terminal on the connector be connected
to the grounded metal surface.

For Open Frame type of installation, ensure the power supply’s Protective Earthing
(Marked “PE” in Fig. 1) point is connected to the system’s Protective Earthing (PE). It is

also recommended that the input FG (Fig. 1 location @) be connected to the system’s PE.

Device Descriptions

Refer to Fig. 1.:

Input terminal block connector
Output terminal block connector
DC voltage adjustment potentiometer

Installation of the Device

Refer to Fig. 1.

Mounting holes for the Enclosed type of power supply (device). The device shall be
mounted on minimum of 3 mounting holes using M3 screw of minimum 5mm length.
Recommended mounting torque for tightening: 4~8Kgf.cm. For the other mounting
holes without screw threads, please use suitable screw and nut.

Mounting holes for the Open Frame type of power supply (device). The device shall
be mounted on minimum of 4 mounting holes using M3 screw of minimum 5mm
length. Recommended mounting torque for tightening: 4~8Kgf.cm.

This surface belongs to customer’s end system or panel where the device is mounted.

Use flexible cable (stranded or solid) of AWG No. 22-18. Please refer to Table 1 for the
recommended Housing and Terminal.

Table 1: Connector (Board Mounting) Housing Terminal
Input (JST) B3P5-VH(LF)(SN) VHR-5N SVH21T-P1.1
Output (JST) B4P-VH(LF)(SN) VHR-4N

PJ-CIV3O0WCNA: Enclosed (with cover and chassis)

2-93.5 Q@)

4—M3*0.5

[MOUNTING HOLE

MOUNTING HOLE\

2-¢3.5

2-M3*0.5

PJ-COV30WLNA: L Frame (without cover)

PJ-COV30WBNA: Open Frame

4-M3%0.5

2-935
® OUNTING HOLE\

MOUNTING HOLE

83.5 (MOUNTING HOLE,
PE: MUST CONNECT

WITH
SYSTEM_PROTECTIVE EARTHING

3-83.5

MOUNTING HOLE

Fig. 1: Device Descriptions

D1 TOP SIDE

FRONT SIDE

PSU

|o1|

Fig. 2: Assembly Reference

T
I

CN1 : PSU
il ERIRE

D1 =4mm
D2 = 8mm (For Open Frame type)

www.DeltaPSU.com



SR B

HESIHE

PJ-COV3OWLCINA

1.

Z2HH

o ARPSTEAEIESASE - R0 1 B -

o RPUERIHESEIS - BRI S AR SR Amm EEE DL R 2 4050
(WS ) o UFERE KT dmm B » TG ST 2 AR -

o EESRIERSOGEPN » ANSORIELIRE » FUE Ry R
] YR SRR » LU0 -

o EOVE LIRS R T DT -

o SR NG RIETTA S RS A R AE AT A  BES
AR -
—dii ; ERMEH KK ; R

o g ARG RS S B BOH TEEE | MEEESI S
P SR B e - FER L ARSI TR R e,
FIHRIS = 2 IR AL B (T PE) IS SR
RSN - SRR A T (i (D) MR A6 IR E S -

P RANEAME
RAEE—:
@ sAEEET
@ e T
®  HEyHEE TS

FEamEE TR
fHERE—:

B  HERS - AR RSB E RN - SRS ASEETL - PR R% A
KEZE/D 5mm ] M3 B2 AE /D= AEIEFL o B AEEE 2N
4~8Kgf.cm o EFNIFFFLIZAAIIE EFL - 1 HENCE IR ] A i -

BN AR R, R SR RS R T RN, KR BN B e L. R
NEAZ K BE /> 5mm (1) M3 82 228\ /0 PUAS [ g FL . BB ] e MR 2 L
4 4~8Kgf.cm -

Bl B P 2SR -

o HIZAYIITEI{# ) AWG No. 22-18 - iV {# fiJ 2 Housing and Terminal (B —) -

ER—: Connector (Board Mounting) Housing Terminal
Input (JST) B3P5-VH(LF)(SN) VHR-5N
Output (JST) B4P-VH(LF)(SN) VHR-4N SVH-21T-P1.1

e EOEE

o ABBWAEEAMRER (B 7T ATy ) ICRET D EITHETTFE,

o AREIRBUT TR, RO R, M2 TOMm T, MoMhCEEN S LT
Aamm LA EORZEHREA R LTI ISV (M22H) . £z, 4mm L o2
DR TERVIGE | Bk L B 2 BT 2 BB OIS — M &AL TT S,

o ERMEOEMAR S L JAFHIRESCEROANIC L o THSNIERFICA RS 2
ERHYETOTERLTFE, BWEROEEHC/T —% 4 712 Uz Bk IR
IS RN T TS, RFE] oBnaidy 9,

o EFE@TIE, ¥ —I 7ML RN T RSy, EE] ofBhsdH 0 7,

o HERABUST AR, SEAREERO RSO 0D AV IAE RN LD
IZLTREW, Z9 Lfyid, &E, DT L, KEORBOMEL T2
DY ET,

o R BERIZWUIT ARHE, BBROXVEMEML, T A SN REICERTT T
T&EW, aRx 7 Z—DOT —AliT %7 —ASNEREICLTERT D Z &2 B8
HLET,

HMRA—T T L—h I A T OERERM T 55E101, K1 TPE LEfisn
FBROT — 2%, B FEEfOT7—2 (PE) IC6PERELTTSW, £,
HM10 D OANM FG #REBMOT — R LHFT 2 2 L bB@ID LET,

BB OLEL R

X1 2
AT ey s axy 2—
M7y 7 axs 42—

® DCEEHE Y~ 3

B R OB

[%] 1 ZH8:
Ar— AR E FEARAER (BgRR) OmMU T ITT, HRRIE M3 DR AR L,
K 5Bmm OEEE T3 il EOREFEL TF SV, #EEI DKM B
N7 4~8Kgf.em TT, ZOMAK P OMENERAHF I, ZhCE Tk Tl
F Y hTEDTTFEN,

F =TT L— NH A TIEBORER (BER) OWAHT T, BRI M3 D%
CEMHAL, KK 5mm OES T4 4yl EOREFELTFS, HIES
NDKET RV 1% 4~8Kgf.om T,
® cofilE, BELBY T2 BEEOER ST F N ERLTOET,
e AWGNO0.22-18 D7 L ¥ TN —T N (AT TFy REIZY Y v REA D)
EIHEATED, #RAT VU7 LTI TRENZSRT I,

&1 ak75— (F—FER) | B~ vVOYT =
A3 (JST) B3P5-VH(LF)(SN) VHR-5N
M7 (JST) B4P-VH(LF)(SN) VHR4N SVH-21T-P1.1

www.DeltaPSU.com



